Model No.DUR192L CORDLESS GRASS TRIMMER

/@g

@—m




Model No.DUR192L CORDLESS GRASS TRIMMER

[aRsly);]
G
$:8 o sinoie . Wi |[Gose |Govs/ |avcniun [avouis
mevie u=a |s G R (USD) m(USD)
o8
001 [183R54.1 - REUB S UAY S 0§ 1
001 INC. 14
002 652069-6 i 59 M3X6 3
003 |629A22.3 foHo§od 1
004 519643.2 B I BT - 8]
004 INC. 5,6
005 210235.7 BALL BEARING 62527 1
006 210236-5 BALL BEARING 62727 1
007 |213843.3 somiotsac s O 21 1 i
007-1 |213925.1 o i wHAca0s O 21 (e} 1
008 227831.4 NomecUMes a1l 1 *
008-1 |227883-5 NemecRUmes all < 1 *
008.2 | 2278314 oMo sRUMes all (0] 1
009 931302.2 AoUs GRS oo io B AN M6 1
010 210235.7 BALL BEARING 62527 1
011 227830-6 NemesRUmes & 32 1
012 |327678.7 BAAccUSRACE 1
013 210216-1 UodolacicUsWwa s 6001DDW 1
014 |[183R54.1 W REUB S UAY S 5§ 1
014 INC, 1
015 |140w47.1 sosUoR st 1
C10 213134.2 iomicRHA 05011 1 *
Cl1 213A62.7 O-RING 11 O 1
017 266326-2 JofACUS U] S o6 8A 4X18 8
018 3477478 aonn 24 1
019  [922207.7 UsogjeRnsuouiscasatan M5X1 2
0
021 |[251513.6 Usogjelacus U s asatan M5X2 2
5
022 |347667-6 ACIBo UV S 2UAIRN S ASING] 1
023 424567-8 oW Ateg s o 24 1
024 |346855.2 gotaccUsanAcR: 1
025 412580-8 auAinNa=insg N 330 1
026 266326-2 JofACUS US| 0B 8A 4X18 2
027 140W46.3 ennccusnis C 1
C10 |8023L9.8 o USARIM - M- ANTS 1
Cc20 8193128 f R C ARIEN < N5 g U = A makita 1
028 |140W455 feancousnaa s B 1
C10 |808723.2 R UCARM S meAnis s 1
029 [457937-6 HhAcsoysigoaino Mol 24 1 *
029.1 |413L67.5 nuAcssvoigsinaMaie 24 (0] 1
030 [922212.4 UsogjeRnsusig casan M5X1 1
2
031 3470117 AcIGoUCUSnR s 29 1
032 [699157.8 feans e futac Uik 1
034 [347116.3 auAIAN-S - NoA 1
035 [922212.4 Usogensuo s sasatnn M5X1 1
2




036 |183R55.9 AUCREIECUARAS S 1
C10 |[263005.3 ASCU Rl 6 3
036 INC_ 44
037 |140W41.3 WiA-ioAchaCa 1
C10 |8007N9.0 AU AR M e AT Aa:A 1
038 |651494.8 Aonmone C3IW.1APA2 1
039 233101-1 o ciUdcNcUs 4 1
040 |412863.-6 ASoRUSHUS SR 1
041 |459758.2 ASCIUCCACRASAY 1
042 233622.3 ioRIoIUSo ol 12 1
043 |266326-2 §oRUn o U Ug[es - ow o 8n 4X18 8
044 |183R55.9 AU RIS UARIASS 1
C10 |[263005.3 A8 RICAlEs s 6 3
044 INC_ 36
045 |857T44.9 oo R eyie DUR192L 1
046 |620D78.7 Hooumetd 1
047 857T51.2 U RU = ARUET < 6 = FUTB FULS DUR19 1
2L
048 [644809.6 Howoan 1
A0l 198892.0 awaca 95-M10L sy saa oA cUsan 1
52 M
A02 |127508.0 vhoasogomt 1
A03 783202.0 g ss 4 1
A04  |195246.2 ausaicisasasing 1
FO3 197472.9 foans s 2.0-15M g asig gjoh 1
FO4 197473.7 foans s 2.0-30M g as5ig IR 1
FO5 1974745 foanss 2.0-160M g asis §j= i 1
FO6 [197475.3 fycanc s 2,0-280M g pig s gjoh 1
F47 1915D8.4 TRIMMER HEAD 96-M10L SET 1
F48 1914R8.6 TRIMMER HEAD ASSEMBLY 98. 1

M10L

sysumaiveigaisiinuuemsm

o

-

imenymMUUigs 12/31/2024



